Em=AR T(6,42,54,12)

AABC OPERICE P % A
/PBA = 6°, /PBC = 42°, /PCB = 54°, /PCA — 12°

ERBEIITBEE, /PAC DREZIERD K,
54°

B C
R 7T 1] 915535 r

/BAC = /BCA =66° &b BA =BC

ABCP DA% D 5L L7 S~

BD = DP, /BDP = 2/BCP =108° &b o "o,

%% BD, DP ZBih &5 2 35 -7 TS

IERHMA BDPQR 21E3 Z e T 205,
DB=DC=DP=PQ=QR=RB

%72, IE=A ABE % AB »5AT C & HHAIc/ES &,
AB =BC = AE = BE

Z/EBC = 48° +60° = 108° & b

7 CB, BE 2Bib &5 24255

IEFif4¥ CBEFG %213 Z e BN TE 5,

2 ODIEHAEMIE B #HELTW595 ARBE = ADBC
RE = DC = DB = RB = RQ

/BRE = /BDC = 2/BPC = 168°

/ERQ = 168° — 108° = 60° & b AERQ ZIE=fA1F,

2 ODE=ZAEMEE ZHELTVWE 525 AQEA = AREB
WZ I QE = QA = QP

ZEQP = 60° +108° = 168° = ZEQA £ h APEQ = AAEQ
X->TEP=EA=EB

WZIC B E Z AABP OALTH 3,

/PAB = %APSB = %(600 —2-6°) = 24°

/PAC = 66° — 24° = 42°




BA=AR T(6,42,54,12)

AABC OPERICE P %
/PBA = 6°, /PBC = 42°, /PCB = 54°, /PCA — 12°
Y3 kS51cr B E, /PAC DKEXRRD X,

54°

CRed 75 2] WIRF%4A

/BAC = /BCA =66° £ H BA =BC

ABCP O4bL% D &35k

BD = DP, /BDP = 2/BCP =108° X b

#7 BD, DP b &5 23455

IERHMA BDPQR 21E2 Z e BT 3,

F72, E=AF RQS # QR 256AT D AN E/ES &,
BD =CD =BR = RS =SQ = PQ

/BDC = 2/BPC = 2 - 84° = 168°

/BRS = /PQS = 108° + 60° = 168°

kb, 230%KMAHEET ABCD = ABSR = APSQ

& -T BC=BS=PS

BA =BC &b BS=BA

ZABS =72° —6° — 6° = 60° & h AABS IZIE=/A,
WZIZSA=SB=SP &b, " SiZ AABP OHLTH %,
/PAB = %APSB = %(600 —2-6°) = 24°

/PAB = 66° — 24° = 42°




Em=AR T(6,42,54,12)

AABC OPERICE P %
/PBA = 6°, /PBC = 42°, /PCB = 54°, /PCA — 12°
Y3 kS51cr B E, /PAC DKEXRRD X,

A
A
P
O
42° 54°

(kD75 3] =BIRGRIH

AB-CD-EF = BC-DE-FA
MDD, Fie, WHD IO,

(GEFA] 3 DO AEMOREZE P 235

AB AP EF EP CD CP

“DE EP’ BC CP’' FA _ AP
AB CD EF AB EF CD AP EP

MICRET 3AAT AR KCBT3F T NOER)

(B 757 « B pab M 7 O 14 OE)

APAB co APED, APBC co APFE, APCD co APAF XD

FICNEE T 575/ F ABCDEF Oxffi#i AD, BE, CF 28 1 RT3 613

B A
C
F
D
E

“BC DE FA DE BC TFA EP  CP

6°, 12°, 42°, 54° OIRANKIED 6° 72026, 7EE = 30

NATE AFBDCE OXtfaf# AD, BD, CF 134 P TXb 3,
(REFA)

AABC OANEZME

AF =sin12°,

FB = sin 54°,

Brledse, EREHELD
BD =5sin24°, CE = sin42°
DC =sin42°, EA = sin6°

FB-EA — AF-BD Aqs

=sin 54° sin 6° — sin 12° sin 24°

=sin 54° sin 6° — 2sin 6° cos 6° sin 24° B(A17)

=sin 6°(sin 54° — 2 cos 6° sin 24°)

=sin 6°{sin 54° — (sin 30° + sin 18°)}

=sin 6°{(3sin 18° — 4sin® 18°) — (sin 30° + sin 18°)}
1

=sin 60(77 + 2sin 18°

-1
sin 18° = _Zf

— 45in® 18°)
EHWS Y,

1 ,
-5 +2sin18° —4sin®18° =0 215 3,

CE=DC &b AF-BD-CE =FB-DC-EA D7D,

F(As)  A(Ae

v() E(As)

Ao

A28

A21

L7235 T, 7" AFBDCE Otk AD, BD, CF I35 P TR b 5,

/PAC = /DAC =T7-6° =42°




